TOP FIXTURE 1/4" X 5/8"
13 GA (.086 MIN) SELF-TAPPING

TOP FIXTURE

1/4" X 5/8"

’<_—T7 1 15/16" SECTION THICKNESS

TONGUE AND
GROOVE

SECTION JOINT

& c
6"

DOUBLE ENDSTILE

END STILE DETAIL
.075 THICK ALUMINUM WALL
EXTRUSIONS

STANDARD
CENTER STILE

T

L——if 25/8"

R

L—f 5 3/4" —=

OPTIONAL WIDE
CENTER STILE

CENTER STILE DETAIL
.075 THICK ALUMINUM WALL
EXTRUSIONS

PVC GLAZING E’EEE

SECTION A-A

i I =

N
-

e’ I

Al
Aol
&

@A q ]

MAXIMUM DOOR WIDTH - 14*- 2"

INTERIOR ELEVATION
TRACK AND COUNTER BALANCE ASSEMBLIES

WERE OMITTED FROM ALL DETAILS ON THIS PAGE FOR CLARITY.
SEE SHEET 3 FOR TRACK AND COUNTER BALANCE DETAILS

DOORS TESTED PER
ANSI/DASMA 108
FOR STATIC AIR PRESSURE

TESTED PER TAS 201 AND
TAS 203 AND ANSI/DASMA 115
FOR LARGE MISSILE IMPACT
AND CYCLIC WIND PRESSURE

MAXIMUM
DOOR WIDTH |  DESIGNLOAD
14-2" +43.0 | -480

LARGE MISSILE IMPACT RESISTANT

scALE: NONE

TME SPEC, WIND LOAD

DRAWN BY: G.WEDEKIND

RAVYNOR ALUMAVIEW AND

L) WAS RICHARD A BAUMANN, P.E., 2) UPDATED JAMB

7804.01

10/02/17

CHECKED BY: GW

GARAGE DOORS STYLEVIEW

6338.01

06/14/12

DATE: 06/14/12

BOX 448EAST RIVER ROAD REV

SCREW (3) PER 11 GA (116 MIN) SELF-TAPPING
TOP FIXTURE SCREW (3) PER
UBAR TOP FIXTURE 25/8"
—— UBAR
° o\ ]
\
o J \ \
o \
o 2 13/16"
ﬁ N STANDARD 7
BOTTOM RAIL
ROLLER OPTIONAL
KEEPER ROLLER TOP RAIL
HIGH TENSILE — L KEEPER HllglrjlgEsNr?zlr\L/lE 18 GX"%TS MIN
LONG STEM S~ TOPFIXTURE ROLLER 80 KSI M TENSILE STEEL
ROLLER 13 GA (.086 MIN) 2) PER SECTION L
TOP FIXTURE DETAIL TOP FIXTURE DETAIL TOP FIXTURE DETAIL RAIL DETAILS SECTION AND UBAR
FOR DOORS LESS THAN 500 LBS OR FOR DOORS ON LOW FOR DOORS OVER 500 LBS OR .075 THICK ALUMINUM WALL DETAIL
LESS THAN 5 SECTIONS TALL HEADROOM TRACK OVER 5 SECTIONS HIGH EXTRUSIONS
SCREW
H/_ﬂ #10 X 1 1/4" 32
IMPACT RESISTANT
(] \_— CENTER HINGE ALUMINUM GLASS
16 GA (.055 MIN) GLAZING
/ o \ RETAINER ————
/ 7o) CHANNEL
BOTTOM INTERMEDITATE
IMPACT GLASS AND IMPACT
UBAR
\ %/ R T~ pomesive PANELS ARE AVAILABLE IN
ANY SECTION
\ 8 ] TOP INTERMEDITATE /
RAIL
1/4" X 5/8" e =
O=——  /  SELF-TAPPING ADHESIVE L]
e er ALUMINUM MAXIMUM PANEL ——_ /
GLAZING PVC GLAZING OR GLASS SIZE = T
RETAINER CHANNEL 37 1/4™ X 19-3/4"
CENTER HINGE DETAIL SCREW IMPACT RESISTANT PANEL =
. .050 ALUMINUM
#10 X 1 1/4
.35 1/4" 0SB MAX. DOOR HEIGHT
UBAR 050 ALUMINUM ALUMAVIEW OPTIMA = 20 - 0" 1 //
EDGE HINGE SECTION B-B STYLEVIEW WIDE PROFILE =10'- 0" A /
[e) [e) 13 GA (.086 MIN) UBAR OMITTED FOR CLARITY STYLEVIEW CUSTOM PROFILE = 10'- 0" B—
o o __\— ROLLER =
(o] (o] KEEPER OPTIONAL DECORATIVE LOCKS REQUIRED B~
HIGH TENSILE WINDOW AND OR PANEL
LONG STEM DIVIDERS TAPED TO (E)LNE%?SE?AI'_\‘&T ’D’ ///
ROLLER EXTERIOR. 2 OVER 2 SHOWN,
% 8 va OTHER PATTERNS AVAILBLE OPERATED i
] /o v |\t G
7
O=__ O ‘7‘ UBAR
1/4" X 5/g" MAX. SECTION //
SCREW (6) PER HEIGHT = 26-1/2" /
EDGE HINGE 7 7 <]
EDGE HINGE DETAIL X
SINGLE END STILE i /// /// D.ﬁ
\\\\\\ ”II///
\\\\\ “1 A. BRO //// OPTIONAL WINDOW DIVIDERS
N 0 o -E-& P 7,
N «\C Sae 7,
$oNT e
-, . -
— ' No0065940 + A =
=k \ k=
s : * 1 e
— O N ey 1/4" X 5/8"
-
— R  STATEOF . lﬁl — SELF-TAPPING ™\ i
~ O ¢ S SCREW
AN ‘S
BAR
//// &, “.pL OR\O‘E"‘;C,\%\\\ v CORNER BRACKET
Y, 98 crmer N FOLLER 11 GA (.116 MIN)
///// IONAL e\\\\\ KEEPER 1/4" X 5/8"
// T \\\\ SELF-TAPPING
Hi | HIGH TENSILE SCREW (5) PER
LONG STEM CORNER BRACKET
Digitally signed by ROLLER
Scott A. Brown P.E. Scott A Brown, PE
F.P.E #65940 Date: 2017-10-09 B_[DWAS RICHA
698 _Timbe_r C_reek Road 18:20:45 CORNER BRACKET DETAIL A | RELEASED FOR PRODUCTION
Dixon lllinois 61021 REV.

DESCRIPTION

ECN. NO.

DATE

ECN.NO.: 6338.01

nNo. P-3327 .

100 4| B




TORSION SPRING
ASSEMBLY
e O o
B /| TORSION SPRING
S 7 =% e ASSEMBLY \
s [
/ N
; I
\
1 PANEL WIDE
NORMAL HEADROOM TRACK 4'1-1/2" MAX. WIDTH
2" TRACK ANGLE MOUNT SHOWN :
2" TRACK BRACKET MOUNT AVAILABLE
3" TRACK ANGLE MOUNT AVAILABLE
TORSION SPRING
ASSEMBLY
I/ i |
- —— v ) 2 PANELS WIDE
4 I/ 7' - 5-5/8" MAX. WIDTH
|0
FRONT MOUNT LOW HEADROOM TRACK \
2° TRACK ANGLE MOUNT SHOWN LIFT CLEARANCE TRACK VERTICAL LIFT TRACK
2" TRACK BRACKET MOUNT AVAILABLE 2" TRACK ANGLE MOUNT SHOWN 2" TRACK ANGLE MOUNT SHOWN 3 PANELS WIDE
3" TRACK ANGLE MOUNT AVAILABLE 2" TRACK BRACKET MOUNT AVAILABLE 2" TRACK BRACKET MOUNT AVAILABLE 10’ - 9-3/4" MAX. WIDTH
3" TRACK ANGLE MOUNT AVAILABLE 3" TRACK ANGLE MOUNT AVAILABLE _

/ TORSION SPRING HORIZONTAL TRACK S
o ASSEMBLY LOW HEADROOM, LIFT 4 PANELS WIDE
CLEARANCE AND VERTICAL 14' -2 MAX. WIDTH
REAR MOUNT LOW HEADROOM TRACK LIFT TRACK AVAILABLE. a
2" TRACK ANGLE MOUNT SHOWN Sk . -D\_ ] CENTER SILIIT-E Fﬁgg f’/?El\\l,IiL LAYOUT
2" TRACK BRACKET MOUNT AVAILABLE ]
3" TRACK ANGLE MOUNT AVAILABLE 12" OR 15" | INTERMEDIATE SECTION SHOWN
RADIUS /
= # — TRACK
JAMB ANGLE n SHEET /—\ STRIKE PLATE
.078" GALVANIZED STEEL L METAL 15/8"x 4 1/2" x .086
B (1) REQ'D PER VERTICAL TRACK CONTINUOUS ANGLE SCREW \ LOCK BAR
=9 ATTACH WITH (3) 5/16" X 1-3/4" ' " "
LAG SCREWS @ 1 (4) REQD fO O 3/4" X 1/4
1 ] -+ PR TRACK BOLT/WHIZ NUT
\\\\ W ”/// VERTICAL DOOR HEIGHT I END STILE y 5/16-18 X 3/4"
\\\\“‘ A. BR ///// DOOR HEIGHT TRACK 1 5O (2) PER STRIKE PLATE
\\\ AT ) Z L~ TRACK ASSEMBLY BOLT 13 GA (.086 MIN) GALVANIZED STEEL FOR 2" TRACK
S &) o W\C E NSG 4 Z = 5/16" X 3/4" TRACK BOLT WITH L _11GA(116 MIN) GALVANIZED STEEL FOR 3" TRACK
< % o T2 5/16" WHIZ NUT _GA .
-, 4 \ [y - ‘ I
-
S * s No0065940 * =
el [ N H ; S ;
- * R TRACK 18" O.C. (TYP) 5/8" MINIMUM
= STATE OF ; g = BRACKETS _||H  TrackTO ANGLE
- ) ? S "
18" O.C. (TYP
- % "\ S (TYP) ANGLE TO STRUCTURE ||| | OPTIONAL INTERIOR
AN RN { LOCK DETAIL
& P PLOR\DP,'O\ \\\ i - SEE SHEET 4 FOR SPACING| | | |
/, SR L PR
) PR, SN T | :
%77,/ TONAL © o\ 12
“wr W | ]
[ W
g —— 3"
Digitally signed by
Scott A Brown, PE TYPICAL TRACK INSTALLATION TYPICAL TRACK INSTALLATION SoALE NONE e SPEC, WIND LOAD
Scott A. Brown P.E. Date: 2017-10-09 BRACKET MOUNT ANGLE MOUNT ovner cwepeane | [RYAVINIGIR ALUMAVIEW AND
698 TF"'T'? b'ér#g?e%ioma d 18:21:33 WOOD JAMBS WOOD, STEEL OR MASONRY crecKeDsY. GW GARAGE DOORS STYLEVIEW
DATE: 06/14/12 BOX 448 EAST RIVER ROAD. SHEET REV
Dixon lllinois 61021 JAMBS REV DESCRIPTION ECN.No. ot fecn.no. 6338.01 e No. P-3327 20 4| B




' - 1.00
137 =319 150 f=—= r*
I I O =
| | 0O O q S }
O 2.81 —Do 2.09
| | () W/ i
@) d 4
| | 0 SCALE 1:2 SCALE: 1:2
| 8.0 | O 3" TRACK BRACKET 7.49 7.49 2" TRACK
| 25 | 116 GALY STEEL .086 MIN. GALV. STEEL
| o o -~ 4.19 150 T** 150
IS | , l
O I~
O | | . () I I
: ' 3.00 —— SCALE: 1:2 SCALE 1:2 3.18
( CENTER HINGE EDGE HINGE
4.74 ] .045 GALV. STEEL .086 GALV.STEEL ]
SCALE 1:2 SCALE 12
CORNER BRACKET 4" TRACK BRACKET SCALE: 1:2
(FOR DOORS OVER 600 LBS) 116 GALV. STEEL 3" TRACK (OPTIONAL)
116 GALV. STEEL 105 GALY. STEEL
519~  150—t=—=|
C)< [ 9.44
3.00 (G |
—d ! [
J [ @ 1.81
SCALE 1:2 @ 43 4 1
5" TRACK BRACKET SCALE 1.2 44
116 GALV. STEEL LONG STEM HURRICANE
TRACK ROLLER
U 2.28
4.44 U 0 ‘
«——L 1.93
L2.56*—J LZ'ZG’J ? w @ .42 @ 88
r=—2.62— R .22 04 —=dlm—
SCALE 1:2 SCALE: 1:2
LIGHT COMMERICAL TOP FIXTURE ROLLER CARRIER
(FOR DOORS 5 SECTIONS HIGH OR LESS) 116 GALY. STEEL
086 GALV. STEEL ATTACHED TO LIGHT COMMERICIAL TOP FIXTURE
\\\\\“ i ””//, WITH (2) TRACK BOLTS AND WHIZ NUTS RETAINING NUT
et A Bro 7,
\ o® e . » f— s
S ‘90."\«\6 Nsg "1 1.81 2.61 2:55 @ 52 @j
S ¥z ) ) =
-~ ¢ . -
-~ q No 0065940 s - o)
Sk VX = N 00 #
:‘0: * :M: 3.91 H O % D: 0) v 52 = o i
] ] ——— . PN
E A+ STATECOF 4 = (] Bod 4.06 2.38 ,@
oy, Q %
2R AR S & o | :
7, N \Or .
///((:9 ~ LORI} N O [0 0] .75 xa2sTHic SHEET METAL SCREW
//// IONAL e \ \\ H @ BOTH STYLES ARE INTERCHANGABLE
\ SCALE 1:
///“ I 1\ SLIDE LOCK (OPTIONAL)
2

Scott A. Brown P.E.
F.P.E #65940
698 Timber Creek Road
Dixon lllinois 61021

Digitally signed by
Scott A Brown, PE
Date: 2017-10-09
18:22:56

SCALE 1:2
HEAVY COMMERCIAL TOP FIXTURE
.116 GALV. STEEL

12

CASE .086 GALV. STEEL

7/8" :‘
o

1.43

> )
> H—
s —> S
> > >

.078 GALV. STEEL

@ 59
TRACK BOLT

@ 14"

I

@

@ 14"

fe——— 1 3/4" —]

W

T

HEX HEAD LAG SCREW

@ 5/16"

scALE: NONE

DRAWN BY: G.WEDEKIND

[RAYINGOIR

CHECKED BY: GW

GARAGE DOORS

TME SPEC, WIND LOAD
ALUMAVIEW AND
STYLEVIEW

BOX 448EAST RIVER ROAD
DIXON, ILL. 61021

DATE: 06/14/12

DESCRIPTION

ECN. NO.

DATE

ECN.NO.: 6338.01

SHEET

No. P-3327

3 oF 4

REV




STEEL JAMB
STRUCTURAL STEEL BY OTHERS.
3/16" MIN THICKNESS.

5/16" X 5/8" THREAD CUTTING SCREW —

WITH 5/16" WASHER
ALLOWABLE TENSION LOAD = 1048 LBS
STARTING 8" FROM THE FLOOR, THEN 36" O.C.

OR

5/16-12 X 1" SELF DRILLING SCREW
WITH 5/16" WASHER

ALLOWABLE TENSION LOAD = 971 LBS

STARTING 8" FROM THE FLOOR, THEN 36" O(/
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

VERTICAL TRACK

MASONRY JAMB \
(%

MINIMUM EDGE DISTANCE ‘
2-1/2" o > o

2-1/2" EMBEDMENT

3/8" ITW TRUBOLT
ALLOWABLE TENSION LOAD = 893 LBS

STARTING 8" FROM THE FLOOR, THEN 35" O.C.
OR

3/8" KWIKBOLT3

ALLOWABLE TENSION LOAD = 1379

STARTING 8" FROM THE FLOOR, THEN 36" O.C.

o / 2500 PSI CONCRETE (MIN)
<

\

ANGLE MOUNT/

ANGLE TURNED OUT WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

VERTICAL TRACK

\

TRACK ASSEMBLY ATTACHMENT TO STEEL JAMB
2" TRACK ANGLE MOUNT TURNED IN SHOWN

TRACK ASSEMBLY ATTACHMENT TO MASONRY JAMB
2" TRACK ANGLE MOUNT TURNED OUT SHOWN

L

DOOR HEIGHT

MAXIMUM

SPACING

~L——
~— T

\JAMB FASTENERS

FOR JAMB LOADS

[

—~— T

— TREATED 2X6 WHEN
MOUNTING TO MASONRY
CONSTRUCTION.

o UN-TREATED 2X6 MAY BE
USED ON WOOD
CONSTRUCTION.

o

W TREATED 2X6 #2
DOUGLAS FIR OR
BETTER WOOD BUCK
WHEN MOUNTING TO

° MASONRY JAMBS.
UN-TREATED 2X4 #2
DOUGLAS FIR OR
BETTER MAY BE USED
ON WOOD JAMBS. SEE
° CHART FOR BACK JAMB

3" TRACK ANGLE MOUNT AVAILABLE

WOOD OR MASONRY JAMB\
WOOD BACK JAMB ——— =
SEE JAMB ATTACHMENT DETAIL

FOR ANCHORAGE REQUIREMENTS

3/8" X 1-3/4" HEX HEAD LAG SCREW ]
WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS, (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 25" O.C.

MAXIMUM SPACING.

OR

=

3/8" X 1-3/4" HEX HEAD LAG SCREW
WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)
STARTING 8" FROM THE FLOOR, THEN 18" O.C.

MAXIMUM SPACING /
ANGLE MOUNT

ANGLE TURNED IN WITH
SECTION LAPPING THE
JAMB BY 1" MIN.

L————\

VERTICAL TRACK

3" TRACK ANGLE MOUNT AVAILABLE

WOOD OR MASONRY JAMB\
WOOD BACK JAMB ———
SEE JAMB ATTACHMENT DETAIL
FOR ANCHORAGE REQUIREMENTS

==

3/8" X 1-3/4" HEX HEAD LAG SCREW ?
WITH 3/8" WASHER IN SOUTHERN PINE
ALLOWABLE TENSION LOAD = 655 LBS (NOTE 6) B ]
STARTING 8" FROM THE FLOOR, THEN 25" O.C.
MAXIMUM SPACING.

OR h

3/8" X 1-3/4" HEX HEAD LAG SCREW
WITH 3/8" WASHER IN SPRUCE, PINE,FIR
ALLOWABLE TENSION LOAD = 482 LBS (NOTE 6)

STARTING 8" FROM THE FLOOR, THEN 18" O.C.
MAXIMUM SPACING
ANGLE MOUNT
ANGLE TURNED OUT WITH

SECTION LAPPING THE
JAMB BY 1"

—\

VERTICAL TRACK

ATTACHMENT TO
STRUCTURE
. DOOR
6 WIDTH
JAMB ATTACHMENT

JAMB ATTACHMENT NOTES

1. MAXIMUM POSITIVE LOAD PER JAMB = (14'-2" X 43.0 PSF) /2 =305 LBS PER FOOT

2. MAXIMUM NEGATIVE LOAD PER JAMB = (14'-2" X -48.0 PSF) / 2 = 340 LBS PER FOOT.

3. DESIGN OF THE SUPPORTING STRUCTURE SHALL BE THE SOLE RESPONSIBLITY OF
THE BUILDING DESIGNER AND SHALL BE DESIGNED FOR THE JAMB LOADS LISTED IN
NOTES 1 AND 2.

4. ALTERNATE JAMB ATTACHMENTS MAY BE USED IF APPROVED BY A REGISTERED PROFESSIONAL
ENGINEER.

5. DASMA TECHNICAL DATA SHEET TDS-161 MAY BE USED FOR ALTERNATE JAMB ATTACHMENTS.

6. 3/8" DIAMETER LAG SCREWS REQUIRE 1/16" DIAMETER PILOT HOLE AND 1-1/2" MINIMUM EDGE DISTANCE.

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

2" TRACK ANGLE MOUNT TURNED IN SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

TRACK ASSEMBLY ATTACHMENT TO WOOD BACK JAMB

2" TRACK ANGLE MOUNT TURNED OUT SHOWN
3" TRACK ANGLE MOUNT AVAILABLE

Wy
AW l
Nost A Bro,

AT

N\ > - 7,
N\ 0 e CENs . 7,
NSRS &1

~

> 4 )
< 7 No 0065940

1
'
H *
'

Scott A. Brown P.E.
F.P.E #65940
698 Timber Creek Road
Dixon lllinois 61021

Digitally signed by
Scott A Brown, PE
Date: 2017-10-09

18:24:57

2X6 ATTACHMENT TO STRUCTURE
MINIMUM | MINIMUM ON | DIMENSION A |ALLOWABLE
STR_IEJ;;:’TEURE FASTENER TYPE En/'}Alalglrl)wl\;lJéwNT EDGE CENTER (MAXIMUM ON TENSION
DISTANCE SPACING CENTER SPACING) LOAD
1/4" TAPCON+ (PLUS) " . N
2500 PSI MIN. CONCRETE WITH 1-1/8' OD WASHER 2 2.5 6 24 691
3/8" X 3" LAG " " " "
SOUTHERN PINE WITH 1-1/8" OD WASHER 1.50 1.50 1.50 24 655
3/8" X 3" LAG " " " "
SPRUCE PINE FIR WITH 1-1/8" OD WASHER 1.50 1.50 1.50 18 482
scALE: NONE TME SPEC, WIND LOAD
DRAWN BY: G.WEDEKIND IRVANY @ﬁ ALUMAVIEW AND
CHECKED BY: GW GARAGE DOORS STYLEVIEW
DATE: 06/14/12 BOX 448,EAST RIVER ROAD SHEET eV
REV. DESCRIPTION ECN. NO. DATE ECN.NO.: 6338.01 oo e NO. P-3327 400 4| B




		2017-10-09T18:20:45-0600
	Scott A Brown, PE


		2017-10-09T18:21:07-0600
	Scott A Brown, PE


		2017-10-09T18:21:33-0600
	Scott A Brown, PE


		2017-10-09T18:22:05-0600
	Scott A Brown, PE


		2017-10-09T18:22:56-0600
	Scott A Brown, PE


		2017-10-09T18:23:37-0600
	Scott A Brown, PE


		2017-10-09T18:24:57-0600
	Scott A Brown, PE


		2017-10-09T18:26:27-0600
	Scott A Brown, PE




